JKS spring isolator installation guide

LKA et ey Z R RISE S EHE -
Before installation, make sure the model and the specification

are correct.

S AR

i
allp

7
Installation guide

PRIE LR 2flH%19mm (M12) RA#RF ~ MAFFIB -

Required tools: 19mm (M12) open wrench and claw jack.
e OETHEERPREGRSEHENERNENREELERE @ BL&KxKE - (WE]L)
Place the wooden panel with the same height as the mounts on the installation location before
installing (Fig 1).
s KEBEERBREEANNUE RERUETRIEERIRZ -
Embed foundation bolts according to the location of bolt-loaded holes.
« BEERIMERERBNIEREZEMNE - (WE2)
Place the mounts on the correct installation location (Fig 2).
« DIMI2EEB#EREERERBETE - BAEE - (H1E3)

Fasten the mounts and the equipment with M12 fixed bolt without locking them (Fig 3).

ae 22 &UE E 1R 12 -M12
M12 adjustment and fixed bolt

LEH
Upper iron sheet

fz 1242 2H
Seismic snubber bolt sets

HE 22 EE AL
Bolt-loaded holes

BB R
Rubber anti-slip mat

xr 15

1= H Refer to the reverse side for the illustration. J.S.C. Scientific Controls Co., Ltd. c



JKS spring isolator installation guide

ERAH HEI9mmER FiRFLUBRE S D ERRIEEESS IO b
B - (M0[El4)

Adjust the adjustment nuts in the clockwise direction with 19mm

open wrench to press down the spring (Fig 4).

- BEEBESR FFH Fh RN IRLKEICFIEREZE - (WEDS)
Adjust until the upper iron sheet of the mounts arises. Adjustment can be stopped once the wooden
panel is Removed (Fig 5).

« BIMI2EBIEEEREEHREHE  BlxmEERm 22 RAE - (WE6)
After the adjustment, lock the mounts with M12 fixed bolt (Fig 6).

s ZREBEFHMEBSZ NEE  ZRTNBIZEERSEESRRSImm  BPEEBRAGE Z2HRE - WimA
NEIEFAE -
After the adjustment, check the press amount of the spring. If it appears with insufficient loading,
please replace with bigger loading by contacting our staff.

« ZKIF BARLE -

Be cautious during the installation.

O )|
713 r
195

I
| .
()
2
T
B 225 N

XREMBIER SAHZREEBERRIGHE RmREEERLENRNEES NEBEEELER -
Maintenance checking points: remain fixed bolt locked, balance of the base, installation of the isolator,

and the deflection of the spring every month.

BB M Refer to the reverse side for the illustration. J.S5.C. Scientific Controls Co., Ltd. e



JKS spring isolator illustration

E1) ZRRERoTHEHEBEREESE 2R
SYN=I

Fig 1) Place the wooden panel with the same

height as the mounts at the installation

before installing.

E2) KRR EARBRELENUELR °

Fig 2) Place the mounts on the correct

Installation location.

E3) MI2EIE Bt EamlEEEE - BA
HE - ARUERBEEREESEE -

Fig 3) Fasten the mounts on the base with
M12 bolts without locking it. Apply

foundation bolts to fix the mounts.

—
'r\
— .'. &

e
e P

T

o
— =
e I

s g
.'

= (/

" Camill
)

1= H Refer to the reverse side for the illustration. J.S.C. Scientific Controls Co., Ltd. e



JKS spring isolator illustration

B4) 2SI OE19mm F LR & 75 [0
U2 EEEZ N -
Fig 4) Adjust the adjustment bolts in the

clockwise direction with 19mm open

wrench to press down the spring.

Bl5) AEEEE NERERER FHFEFS - N =

AN \ =+ =
= 0] DUEV G FFEN o] 5SS B R 22 -

Fig 5) Adjust until the spring is down and

the upper iron sheet of the mounts arises.

Adjustment can be stopped once the

wooden panel is removed.

El6) "WM1212 2R ETTHER - Bl
EaR LR

Fig 6) After the adjustment, lock the mounts
with M12 fixed bolt.

J.S.C. Screntific Controls Co., Ltd. e





